Technical Assistant Electrical



What would be the current through ammeter A and voltage across voltmeter

V in the following circuit respectively?
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28 Ae, | a)2.4 Aand4.8V
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The peak voltage of single phase domestic supply is .
a) 163V b) 230V c)325V d) 400 V

U by W 3MYfd &1 M dieew g gl
a) 163 V b) 230 V ¢) 325V d) 400 V



In a house, there are 5 LED lamps each consuming 12 W, 3 fans each
consuming 50 W and one refrigerator consuming on average 100 W. If lamps
are ON for 5 hours every day, fans are ON for 10 hours every day and

refrigerator is continuously ON, how many units are consumed in a month?

a) 4 b) 57 ¢) 126 d) 196

U R H 12 W TUd H3A d1d 5 LED Fed, 50 W FUd A ardd 3 U 3R
39T 100 W |Ud A dTal U YpoiReR g | afe dew ufafed 5 6e, ud
vfafe 10 62 3R YMpoiker TAR 1e 8l &, Ot U A1e | fra-t gfe
fareft 31 @ua grfiz

a) 4 b) 57 ¢) 126 d) 196

Which from the following type of resistors are suitable for use at high power?
a) Carbon composition resistor b) Carbon film resistor

¢) Metal film resistor d) Wire wound resistor



I Uk R 41T & fore Fafefea 3 9 &19-3 TR &1 ioRive Iuged
B2

a) BTe GaIeA UfoRIue® b) PTa e UfRIe®

¢) t1g frert ufeRiues d) R Hea feRiy®

The apparent power drawn by an A.C. circuit is 8 KVA and active power is

6 kW. The reactive power in the circuit is

a) 1.3 kVAR b) 2kVAR ¢) 5.3 kVAR d) 10 kVAR




s T Gidhe grRy i 78 uRi UTaR 8 kVA 3R 9fehd UTaR 6 kW B
gfdhe § ufafsparars uraR il
a) 1.3 kVAR b) 2 kVAR ¢) 5.3 kVAR d) 10 kVAR

What is the phase angle between any two phases of 3-phase supply?
a) 0° b) 90° c) 120° d) 180°

-5 3myfd & =51 a1 Woll & otg &9 aTa B S0 ____ gRT|
a) 0° b) 90° ¢) 120° d) 180°



What is equivalent resistor of the following circuit?
Consider R1=1kQ, R2=2kQ, R3=3kQ, R4=4kQ

‘Vi)\v 3 a) 1.7kQ
‘-I_’ AMA I Wy b) 1.9kQ
| ¢) 2.1kQ
AA d) 2.3kQ
FofaRad Tfdhe &1 9ided Uiy &1 gi?
AFTINT R1=1kQ, R2=2 kQ, R3=3kQ, R4=4kO
% . a) 1.7 ka
o R2 —AANN— b) 1.9 kQ
M
0 2.1kQ
o d) 2.3 kQ
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What is equivalent capacitance of the following circuit?

Consider C1=500 nF, C2=2 uF, C3=3 uF, C4=400 nF

I

C1

a) 1.76 uF
b) 1 uF

¢) 0.36 uF
d) 0.23 uF
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What is equivalent inductance of the following circuit?
Consider L1= 100 uH, L2= 1 mH, L3= 200 uH, L4=2 mH, L5 =700 uH

L3 L2 L3
e YY Y\ Y\ YYY\o o
a) | mH
b) 0.95 mH
. : ¢) 0.88 mH
L4 LS
Y Y]
d) 0.79 mH
fafeRaa afdhe &1 Trqed TRed a1 gRI?
| WISIE L1= 100 uH, L2= 1 mH, L3= 200 uH, L4= 2 mH, L5 = 700 uH
o L1 L2 L3 . a-} 1 TﬂH
b) 0.95 mH
c¢) 0.88 mH
L4 L5

Y YL Y Y™ dj 0.79 mH




Power Factor =

a) kW/KVA b) Cosine of angle between current and voltage
¢) R/Z d) All of the above

Uil Ycdh = ?

a) KW/KVA b) B¢ 3R diecyl o g & HIUl I HIATGT

) R/Z d) Sudad gt

Transformer core are laminated in order to reduce
a) hysteresis loss b) hysteresis & eddy current loss

¢) eddy current loss d) copper loss



TEPIR B B HH B & o dAfdHe fpar S gl
a) e g1l b) fee R 3R ufs e a1l
¢) Ufs ®ie g1lA d) didr gifA

The efficiency of two identical transformers under load conditions can be
determined by
a) Short circuit test b) Open circuit test

¢) No load test d) Sumpner test



YR fRufeal & o1efi 3 To= TRp iRl ®f &mar _ gR1 fAuiia &1 o
BELIE]

a) Tie Tfbe aemr b) 319 Gfdhe Tt

¢) HR Ifgd e d) TR Grefur

Ripple factor of full wave rectifier is
a) 0.38 b) 0.48 ¢) 0.58 d) 0.68

guf & uReiees &1 e ges g gl
a) 0.38 b) 0.48 c) 0.58 d) 0.68



Temperature coefficient of resistance is expressed in terms of
a) Q/Q°C b) O/Q°C ¢) O/°C d) /°C

UfeRIY® &1 dUaE e & ¥4 H 3yad & ol 8|
(a) Q/Q°C (b) U/Q°C (c) u/°C (d) Q/°C

Which of the following material has least resistivity?
a) Copper b) Mercury c) Silver d) Gold



frofafea & 3 e Il $t ufeRieedr a9 gl 82
a) dfal b) URT ¢) Tidl d) |1

A 100 W, 220V lamp is connected to 110V supply. What will be the power
consumption?

a)S0wW b) 40 W c)25 W d) 200 W

TH 100 W, 220V T I 110V 3Tl & SHIST STl 8 | 3ol &1 @ud bt
Brit?

a) 50 W b) 40 W c)25W d) 200 W



Which of the following battery has high energy density?

a) Lead-acid b) Ni-MH ¢) Ni-Cd d) Li-ion
fafafad & 3 f5a scft 7 3w Sot g=d1 8t 82
a) Lead-acid b) Ni-MH ¢) Ni-Cd d) Li-ion

Two 1.5V cells are connected in series. Their internal resistance 1s 0.1 ohm
each. If they are supplying 1 A current, what will be equivalent emf provided?
a)3v b)29V c)2.8V d)14V



1.5V & 3l Tdl &I YRS | SIST I1d1 81 3790 Q UdS &1 3Hiaive ufeRiy
0.1 ohm 813 ¥ 1 A Fie # 3Myfdf HR R € & wer fvar 9= aren

g emf &1 ITT?
a)3V b) 2.9V ¢) 2.8V d) 14V
| AH= coulomb
a) 6.23 x 10 (b) 6.23 (c) 60 (d) 3600
1AH = DA

a) 6.23 x 10% b) 6.23 c) 60 d) 3600



Displacement current is current through

a) Conducting medium b) Non-Conducting medium
¢) Dielectric medium d) semiconducting medium
fSeivHe s # ¥ yarfed g drell He B
a) dicid HIEHH b) dditid HIEIH
¢) WRIdegd "1 d) e e

Two 1 pF, 500V capacitors are connected in parallel. The equivalent rating of

the combination will be
a) 0.5 pF, 500V b) 0.5 uF, 1000V
¢) 2 uF, 500V d) 2 uF, 1000V




3l 1 yF, 500V FeTfE &t GHMTGR B SIS T4 8 | GaieH &t gHded I

-1
a) 0.5 pF, 500V b) 0.5 uF, 1000V
¢) 2 uF, 500V d) 2 uF, 1000V

Which of the following capacitors will have least energy stored in it?
a) 500pF capacitor charged to 10kV b) 1uF capacitor charged to 5kV
c¢) 40uF capacitor charged to 400V c¢) 100uF capacitor charged to 230V



fafafea o @ fea Jufa & Jufea St =maq grfe
a) 10 kV @& =Tol fa1 500 pF TeTiea

b) 5 kV T TS (bl 1 pF JeRF

¢) 400 V T TS BT 40 pF FuTRA

d) 230 V 9% TTSi fobdl 100 pF FURT

In order to minimize loss due to hysteresis, the magnetic material should

have
a) Low hysteresis coefficient b) High resistivity

¢) High retentivity d) Large B/H loop area



feeehRa 3 g1 areht 81 & gAad &1 & fog, e ol _
areft gt =nfeul

a) fAg feee ¥ 1quries b) I UfeRILHdl

¢) 3= yRufiaar d) §84q B/H qU &7

A ferrite core has less eddy current loss than an iron core, because
a) Ferrites are magnetic b) Ferrites have low permeability

¢) Ferrites have high hysteresis  d) Ferrites have high resistance

PEe R A e FR H GHEa HU R Hee R AN L, wdif_
a)ﬁf?{rs?@aaﬁua’lﬁ%l

b) Brge & A fafkny grasmsiiaar grdt 2|

¢) BRge # 3= RRRRg far g

d) Brge # 3= uferiy BT 1



Copper and Silver are materials.

a) Diamagnetic b) Paramagnetic
¢) Ferromagnetic d) Ferromagnetic
arer 3R =i T g

a) SRYEH b) RIE® o WRIgEad  d) BRI

If a DC machine has 4 poles and armature speed of 3000 rpm, then the
frequency of magnetic reversals will be Hz.

a) 12000 b) 200 ¢) 100 d) 24000



U St mefi ® afe oia &Y e 4 3R =R #t 71fd 3000 rpm B,
YD UATGcl B1 SMgfl ___ Hz gt

a) 12000 b) 200 ¢) 100 d) 24000

In a DC machine, which of the following loss is highest?
a) Armature copper loss b) Field copper loss

¢) Hysteresis loss d) Eddy current loss



U St o A Pofafaa § @ eF-9 e siftiean 8idt @2
a) 3R disr g1 b) &3 diaT g1
o iR el d) uf$ e g1

A 4 pole 1200 rpm wave wound DC generator has 760 conductors. If flux per
pole is 0.02 Wb, EMF generated will be
a) 152V b) 304 V c)456 V d) 608 V

T 4 pole 1200 rpm TR Fefera Sl TR & 760 YT o | afe ufd
UId G 0.02Wb &, ot fabd=T EMF ITH gIT?
a) 152 V b) 304 V ¢) 456 V d) 608 V



The full load current of a 2 HP, 230 V DC motor will be about '
a)d4 A b)6 A c)8 A d) 10 A

2 HP, 230 V 3141 HIeR &1 QU ¥R HIE TTHT il
a) 4 A b)6 A )8 A d) 10 A

A DC motor having full load speed of 800 rpm and speed regulation of 8%
will have no load speed of rpm.
a) 864 b) 832 c) 768 d) 736



800 rpm QU YRR TTfd aTelt aT 8% Tfel FgH arelt SIA Hex # YR Ifed
ﬂﬁ[______rpm@l’ﬂl
a) 864 b) 832 ¢) 768 d) 736

The hysteresis and eddy current losses in a d¢c machine running at 1000 rpm
are 250 W and 100 W respectively. If the flux remains constant, at what speed
will the total iron losses be less by 25%7?

a) 570 rpm b) 698 rpm ¢) 796 rpm d) 855 rpm



1000 rpm TR I aTl U Sidt A9 # R RN iR tdl e gifar
HU: 250 W 3R 100 W &1 T Teia W91 gl 8, o i nfd R

dg 81 25%  HH grft?

a) 570 rpm b) 698 rpm c) 796 rpm d) 855 rpm

RMS value of a voltage given by v= 10+ 5 cos (100mnt) is
a)l3sVv b) 10.6 V )10V d) 15V

v =10 + 5 cos (100nt) §RI ST 7T giec™ &1 RMS AM =il
a) 135V b) 106 V )10V d) 15V



Which of the following will draw least current?

a) 60 W incandescent lamp b) 60 W induction motor

¢) 60 W fan d) All of above will draw same current
fafalaa & 3 301 99 &1 FHic WA

a) 60 W dIIaId §cd b) 60 W IR HIex

¢) 60 W U1 d) Suad It I wie Widh

Reactance of a 1 pF capacitor connected to a 230V, 50 Hz supply is .
a) 3.2 kQ b) 3.2 kQ c) -3.2j kQ d) -31.4j kQ



230V, 50 Hz 3MYfd & S 1 uF Sl &1 Ruada___ grml

a) 3.2 kQ b) 3.2j kQ ¢) -3.2j kQ d) -31.4j kQ

The resonance frequency of a series RLC circuit having L = 24 yH, C= 6 pF
and R = 100Q2 is MHz.

a) 12 b) 13.3 c) 83.3 d) 144

L = 24 pH, C= 6 pF 3R R = 100Q aTel T HRIS RLC Fihe B TG
3Mgf MHz gt

a) 12 b) 13.3 c) 83.3 d) 144



In a series RLC circuit, what will happen when R is increased?
a) Bandwidth will increase b) Resonance frequency will increase

¢) Q will increase d) Resonance frequency will decrease

U YRS RLC Gfdie H, R g W 391 81117
a) 3 faEaR s b) IS Ay deil

0) Q& d) I SgHT He

A 10 pole AC generator rotates at 1200 RPM. The frequency of AC voltage

generated will be Hz.
a) 200 b) 120 c¢) 100 d) 50



T 10 Urd T SRex 1200 RPM WR AT 81 I gU Tt diees @l
&HE{%__HZWI

a) 200 b) 120 ¢) 100 d) 50

Fleming’s left hand rule may be applied to an electric generator to find out __.
a) Direction of rotor rotation b) Frequency of emf

¢) Direction of magnetic field d) Direction of emf



U Safded ovey IR TR &1 99 g8 a9 &1 ual &l & fag

TR] foar off S g
a) e YUl Fi fazm b) emf T gl
¢) deP 1T & DI fa=m d) emf 1 fa=m

An alternator is supplying 10 A to an inductive load at 230 V while running
at 1000 rpm. Now if the speed of alternator is reduced to 750 rpm but the field
current remains unchanged, the load current will become

a) 18 A b)I13.3A c)10A d)75A

1000 rpm TR QT B3 3Tee-cR, Th W HR BI 230 V TR 10 A HC
Gﬂiﬁfﬁm%l trfé&naﬁaaﬁnﬁ'r?so rpm Wmaﬁm%ﬁ‘_{l
ies HIC SURGfid I8dT g dl elis Hc 31 gIT?

a) 18 A b) 133 A c) 10 A d)7.5A



A four pole synchronous generator will run at rpm to generate

50 Hz supply.
a) 3000 b) 1500 c) 1000 d) 750

& IR UId JeadTall SReR 50 Hz @1 3Tgfd ITF B & forg
rpm TR & BT |
a) 3000 b) 1500 ¢) 1000 d) 750



An AND gate has two inputs A and B. Output of the AND gate is fed to a
NOR gate with another input C. Output of NOR gate 1s 1 if
a)A=0,B=0,C=1 b)A=0,B=1,C=0
¢c)A=1,B=0,C=1 dA=1,B=1,C=0

T& AND 712 § A Td B Gl 379 & | AND 7 &1 3f13eYe Udh 3=7 37YE C
& 1Y NOR e &Y {311 SIran 81 NOR e &7 313eye 1 8, afg_ .
a)A=0,B=0,C=1 b)A=0,B=1,C=0
)A=1B=0,C=1 d)A=1,B=1C=0

In case of three phase synchronous motor maximum speed variation is
generally

a) 10% b) 5% c) 2% d) 0%



-% s qeadTel Hiex &1 fead Tifd faar gm=ra:____ gidl 8
a) 10% b) 5% ¢) 2% d) 0%

In circle diagram of an Induction motor, point of maximum input lies on the

tangent drawn parallel to

a) Output line b) Torque line ¢) Vertical line d) Horizontal line

IREd Al & Tohd 3G H, 3fdHad 39Ye &1 fdg & JaAR
1S 77 T W Ryd g g

a) 3T3TYC @l b) §d-TUI ¥l

¢) Seafer ¥ d) &fas



If voltage applied to synchronous motor is V, then the breakdown torque

varies as .
a) 1/V b) 1/V? c)V d) V2

afe JeaaTelt AR Y far T i vV §, dl 3 -S13 Ja-amgef
¥ ey ufkafda g 8|
a) IV b)1/V2 AV d) V2



Two slip ring induction motors having no. of poles as P1 & P2 respectively
are connected in cascade. If the supply frequency is f, the speed of the main

motor will be

a) f/(P1+P2) b) 2f/(P1+P2) c) 120f/(P1+P2) d) 120f/(P1-P2)

HUT: P1Td P2 Ul o1 &A1 aTell &l ey 91 IRep AR gt fafy
J gt 81 afe smyfc smaft £8, Al Aiexi &t i gFft|

a) f/(P1+P2) b) 2f/(P1+P2) ¢) 120f/(P1+P2) d) 120f/(P1-P2)

If a 3 phase squirrel cage induction motor runs slow, what can be a reason?
a) Low voltage b) Overload
¢) Low frequency d) Any of the above



-y el IR Hiey & 7 Ia &1 R PRI 1 bl 27
a) fAg gt b) 3ffAHR

c) fAg angft d) Sudad & | Bis ot

For identical ratings, which of the following takes more lagging current?
a) Single phase induction motor b) 3 phase induction motor

¢) Synchronous motor d) 3 phase transformer

UHgaE 3T & foru Fafafad & 9 i aifte gyt $ie dare?
a) THd Byl IR HIeR b) fA-Thel IR& @ Hiex

o) qEFTA HieR d) f3-Tet TR



A three phase induction motor needs frequent starting and also operations in
forward & reverse directions. Which type of starter will be preferred?
a) Auto transformer b) Star-delta

¢) Direct-on-line d) Primary reactor

U 3-U5sl IRd HieR Bl 377 Ud Uy o= # dR-aR 41g 3R v=ferd
H DI HAAH Bl ¢ | 6T YBR FT €I aiB-19 g2

a) 3Tl TREBIER b) ®R-SI

¢) STRGE-319-a13 d) TRfe Ruaer



The current in 5 HP, 3 phase, 440 V motor will be
a)S A b) 10 A c)I5A d) 30 A

UH 5 HP, 3-T59, 440 v &t AR BT He fha= grm?
a)5 A b) 10 A )15 A d)30A

Which of the following is the source of heat generation in the cables?
a) Dielectric losses in cable insulation b) losses in the conductor

¢) Losses in the metallic sheathing and armour d) All of the above



fFufafad & O Sad 7 a1 & - &1 9id 1 gl 82
a) HIA AMRIY H SAslde® alF b) TaTaH! | g1
¢) HTfcd® TR 3R FHadl d g d) Sqdad gl

The starting torque of a capacitor-start motor 1s

a) Zero b)Low c) Same as rated torque  d) More than rated torque

FUTRA-TRY Hiex &1 YRS - 34mg0f 1 8T 872
a) Y b) A%
¢) T0-TY0l DI IS & GHHA d) §-3{Tg0l D1 ST/ S



A universal motor can operate with
a) Constant speed and varying load
b) Constant load and varying speed
¢) Approximately constant speed and load

d) Synchronous speed with varying load

dfaegd Aex ford W aiferd 8t T 82
a) 3rAd Tfd 3R IRadT=Nd HR

b) 3rd HR 3R IRad-=fa fd

¢) YT 3Fd Tfd 3R YR

d) uRad=fid YR & 91y geadrat i



Which motor will make least noise?

a) Capacitor motor b) Universal motor
¢) Shaded pole motor d) Hysteresis motor
FH-Ut Al a8 $HH 9 U1 Bl 82

a) GeTiea Aley b) Gdfdggd HieR
¢) VST Uld Hiex d) feRe R Aex

When Rs is the resistance of the secondary winding of transformer & N is the
transformer ratio, the equivalent secondary resistance as referred to primary
side is given by

a) NRs b) N*Rs ¢) Rs/N d) R¢/N?



U TR & fgadldd Head &1 UiaRIY Rs 3R TRGIHR U N 8, a@f
Wy ge & oo A guged fgdias ufeRiy gl
a) NRs b) N2Rg ¢) Ry/N d) Re/N2

A three phase 440V, 6 pole, 50 Hz, squirrel cage induction motor is running
at a slip of 5%. The speed of stator magnetic field with respect to rotor
magnetic field and speed of rotor with respect to stator magnetic field are .
a) 0 rpm, -50 rpm b) 0 rpm, 950 rpm

¢) 1000 rpm, -50 rpm d) 1000 rpm, 950 rpm



U f3-B 440V, 6 U, 50 Hz, IS IRP AeT 5% oy R F1f B
W AR YT 1Y &7 & Yo H R geaiy 87 31 71fd IR VR g ig
g FIeHAIRBI G BRI

a) 0 rpm, -50 rpm b) 0 rpm, 950 rpm
¢) 1000 rpm, -50 rpm d) 1000 rpm, 950 rpm

A single phase, 50 Hz iron core transformer as shown in the figure below has
both the vertical arms of cross sectional area 20 ¢m? and both the horizontal
arms of cross sectional area 10 cm?. If the two windings shown were wound
instead on opposite horizontal arms, their mutual inductance will

a) Be double

b) Remain same
¢) Be halved

L'u'ul

IAAN
UUU{
NANN

d) Become one quarter




A" 31 21Ppfd & S T Uhd- By, 50 Hz Wi R B i aHl
SR YO P AU DIC&T 20 cm?® AR &l Sfas Yoiredl &1
3FVRY BICEA 10 cm? B 1 UG TRTT T &1 FSa g Yoredl & M R
fquLia Sfaer Yersil iR dU¢ oY, dl 396 UREURS WRbd |
a) T 81 SIae

b) T &

g c) 31T gl U

d) Ueb TTg gl S

'u'u'u||

Eatama)
UUU{

A 10 MVA generator has power factor 0.86 lagging. The reactive power

produced will be
a) 10 MVAR b) 8.6 MVAR ¢) 5.14 MVAR d) 1.34 MVAR




10 MVA SH¥eR & Uit Urar 9 0.86 &1 U1 811 arelt ufafharars
e Bhftl

a) 10 MVAR b) 8.6 MVAR c) 5.14 MVAR d) 1.34 MVAR

No-load loss and copper loss of a 500 kVA transformer are 900W and 6400W
respectively. What would be total loss at 50% of transformer loading?
a)4100 W b) 6850 W c) 2500 W d) 3650 W

U& 500 kVA TRBIHR 1 YR Ied g1 3R diar g1 HH: 900 W 3R
6400 W 81 50% YR W TRpIHR ® $a g1 fara-t grft
a) 4100 W b) 6850 W ¢) 2500 W d) 3650 W



A 4-pole 50 Hz induction motor is running at 1425 rpm. What is its slip value?
a) 0.2 b) 0.02 ¢)-0.9 d) 0.05

U& 4-U1d, 50 Hz IR&d Al 1425 rpm R ST IR 6! 81 3TP1 &y
A faeen grm?
a) 0.2 b) 0.02 ¢) -0.9 d) 0.05



For the circuit shown in the figure, the primary current will be

200
6, 230y % 1009
A a) 128 A
b) 6.4 A
- ¢) 32A
d) 1.6A

<

o o gRifu U gidhe ® Uruitie Husad § e [dha-l grn?

(=1

-4 200

!2!

E g 10082
@22"“ ‘hé i % a) 12.8 A

b) 6.4 A

= &0 ) 3.2A

1

a d) 1.6A




The source of energy for the satellite is
a) Battery b) Solar cell c¢) Chemical fuel d) All of these

JUUE BT Sull BT Jid 1 8T 87
a) 9l b) OR Id ¢) IAAH S4 d) Sudad ot

Which of the following energy source is the most environment friendly?
a) Battery b) LPG ¢) Hydrogen d) Nuclear



frofafEa ¥ 3 Sof &1 -1 Oid waieRu & o 999 34t saea
BT 87
a) 9 b) TaUtGit SECISE] d) GHT]

Load of 1 ton air-conditioner is about .
a) 200-400W b) 600-800W ¢) 1IkW-2KW d) SkW-7KW

T-ﬁmﬂlﬂ?ﬁﬂmﬁﬁm@‘ﬂ?

a) 200-400W b) 600-800W c) TkW-2KW d) SkW-7KW



Daily load on a system is as shown in figure. The load factor of systemis .

100]
Load, kw

5|:|— I S - -
a) 0.75
b) 0.625
c) 0.5

} } } d) 0.375
¢ 6 12 18 24 :

HOURS



Load, kw

U fed W 3RS dis, o ? <RiT SR 31 RReH &1 dls hae?

100

30

g |

______ a) 0.75
b) 0.625
€] 05

d) 0.375

6 12 18 24

In order to reduce skin effect at UHF,

a) Conductor is shielded b) Conductor is anodised

¢) Conductor is insulated d) Conductor is plated with high conductivity metal



qUIUE R B YHIG B FH A & oy

a) TaTa® $I IR fsan Sia g1

b) YIS BT TArSIHRUI fHaT SiTd ¢ |

¢) Hara® &I faggaridt fasar s g

d) HaTd® & I Yaraeal Ug I fadfa far srar g1

The dielectric strength of air at STP is ;
a) 1 kV/em b) 3 kV/cm ¢) 10 kV/ecm d) 30 kV/em

I A1.31. W 891 HI Sgafdcs fdd &1 grift?
a) 1kV/cm b) 3kV/cm c) 10kV/cm d) 30kV/cm



Out of the following systems of transmission, which offers best economy?
a) AC single phase b) AC three phase, 3-wire
¢) AC three phase, 4-wire d) HVDC

fafafad vamror yonferdl & A $19-3 el To fewradt gidl 87
a) Tl U d-l b) THt -, 3-aR
¢) Tt B-, 4-aR d) Taarerdt

Surge impedance of transmission line is given by .

a) E b) [~ ) VIC d) INIC

(N



UORU A1 @1 &fore ufcramen R & St 21
? ¢ by £ o VIT d) \WIT

(

RCCB tripping current is of the order of
a) 0.1-0.3 mA b) 1-3 mA c¢) 10-30 mA d) 100-300 mA

RCCB fofthT e fb vl &1 8l &7
a) 0.1-0.3 mA b) 1-3 mA 9 10-30mA  d) 100-300 mA



What is dimension of cast iron earth plate?

a) 60 cm * 60 cm * 12 mm b) 60 cm * 60 cm * 6 mm
¢)60ecm*60cm* 3 mm d)60ecm * 60 cm * 1 mm
Tqdl drg 1 3d-wie BT AT T B 87

a)e0cm*60cm * 12 mm b)60cm *60 cm * 6 mm
c)e0cm *60cm * 3 mm d)e0cm*60cm* 1 mm

What is the amount of charcoal and salt needed for GI Pipe earthing?
a) Charcoal 5 kg, salt 8 kg b) Charcoal 10 kg, salt 8 kg
c¢) Charcoal 10 kg, salt 10 kg d) Charcoal 5 kg, salt 5 kg



G gr3y 3 & foru fora1 IRSIA 3R TQUT ISP BIdl 2
a) ARDIA 5 kg, AU 8 kg b) IRBIA 10 kg, TGV 8 kg
¢) AR®IA 10 kg, TG 10 kg d) IRDIA 5 kg, AU 5 kg

In a power or distribution transformer about 10% end turns are heavily

insulated

a) to withstand the high voltage drop due to surge voltage produced by the
shunting capacitance of the end turns

b) to absorb the surge voltage and save the winding of transformer from
damage

¢) to reflect the surge voltage and save the winding of a transformer from
damage

d) none of the above



U& UTaR 41 faavur TRmiER J, THT 10% B8R afte faggavidt «f

faru oma 87

a) BRI P few urfar | U Tl diees @1 aoig | e dees 1T B
g HA & forg

b) TSl dlecdl BI AT FIA R TEHIR & Foad &l g4 o FIM
& fa

¢) Tl dlecdl B Ufafafad HA IR TRGIER & $SAF I gl J TG
& forg

d) Iudad & | HIS T

When the diameter of the core and the cable i1s doubled, the value of
capacitance
a) will be reduced to one fourth b) will be reduced to half

¢) will be doubled d) will becomes four times



DR R Hae & A Dl SNl B G, LR JF
a) U TIYTg g1 S b) T g1 S
¢) NI 81 SImgT d) TR T & S

For full wave rectified sine wave, RMS value is

|~— 1 CYCLE -—-.l

a) 0.707 V pax b) 0.604 V .« €) 0.5 Vimax

d) 0.318 Vi



e gl o1 SRR 151 a1 b1 RMS HF 8T |

|.7 1 CYCLE _..|

a) 0.707 Vmax b) 0.604 Vpax C) 0.5 Vimax d) 0.318 Vpmax

When current is passed through junction of two different metal, heat is
absorbed or liberated depending upon direction of current. This phenomenon

is known as
a) Kelvin effect b) Joules effect  ¢) Seeback effect d) Peltier effect



3l i urgsi & SavH ¥ Ofd $Re oAl 8, d e B QW & AR

g SHTRNAT §1 ST § 31ydT o 81 il ¢ | 9 fohan & o1 dgd 82
a) Hieas gUTG b) S UHTq

¢) Hieh UHTE d) OfeeaR uwTg

Which of the following is not electromagnetic in nature?

a) Infrared rays b) Ultraviolet rays

¢) X rays d) Gamma rays
frafafaa o | feus! uefd figgades i 761 81t 82
a) 3fa¥er favur b) RIS fozur

¢) Ty fhur d) 71 v



Resistivity of a metal is a function of temperature because
a) electron density varies with temperature

b) proton density varies with temperature

¢) amplitude of vibration of atom varies with temperature

d) Magnetic property of atom varies with temperature

H1q B UfeRILHaT JTIHH BT Ut g §, it |
a) 3o G AIUHM & G ufkafdd gIdt 21

b) WeI U1 AIqH & 91y uRafdd gidt 1

¢) U3 B HUA PT T ATTHH & Y uRafda grar g

d) 3MU[3ft BTGP g 0T ATIH & Ty fkaffa gar 8|



In a series RLC circuit, the voltages across resistor, capacitor and inductance
are 4V, 8 V and 5 V respectively. The voltage across the circuit will be .
a)s5V b)7V c)85V d) 17V

U RLC Gfthe IS § ufeRiy®, GuUfta iR IRPQ & BRI & s dlees
$HY: 4V, 8V R 5V gl Ifhe P ARUR dicesl fba1 gm?
a)5V b) 7 V )85V d)17V

A voltage of 110 V is applied to a 1 pF capacitor. If current in the circuit is
41 mA, then frequency must be .
a) 25 Hz b) 40 Hz ¢) 50 Hz d) 60 Hz



1 uF YR TR 110 V FT dlees T 91T & | I Gfdhe &1 41 mA
g dremfy___ &

a) 25 Hz b) 40 Hz ¢) 50 Hz d) 60 Hz

What inductance will give same magnitude of reactance as a capacitance of
10 uF when both are subjected to 230 V, 50 Hz supply?
a) 0.1 H b)1 H ¢)5H d) 1I0H

gfe el Ud IR G @ 230 V, 50 Hz 3MTYfd USH &t 91! 8, ft -
I IRE A 10 uF B YTRAT & FAM Ufafehar &1 ulRAT UeH H3m
a) 0.1 H b) 1 H <) 5H d) 10 H



Instantaneous current 7 in a circuit, consisting of a resistor of 100 € in series

with a capacitor of 31.8 uF is given by below equation

i= sin 314t
Equation for instantaneous value of voltage v across the capacitor will be .
a) v=31.8 sin(314t) b) v=31.8 sin(314t-1/2)
¢) v=100 sin(314t + n/2) d) v= 100 sin (314t-1/2)

31.8 uF & TURA & TIY 100 @ & URIYS & TR a1 Fidbe &1
arefOre Bie | Rl wiieu grY i s &
i =sin314¢
FUTRA | diecs & TS A v &1 FHIHRT a1 gI?
a) v= 31.8 sin(314t) b) v = 31.8 sin(314t-n/2)
¢) v= 100 sin(314t + n/2) d) v= 100 sin (314t-n/2)



A resistive load will extract maximum power from a network when

a) Source resistance is zero
b) Source resistance is half of the load resistance
¢) Source resistance is equal to load resistance

d) Source resistance is infinity

s UfeRIY® afs [Pl Aeas ¥ SHfiean urer &d Tiam?
a) 1§ T wfoRiy Y= B

b) STd HId UfaRIe dIS UfaRIe BT 3M1em Bl

¢) 51 Iig ufaRiy drs ufeRiy & I9 8|

d) 9T Hid UfeRIY 3d |



Which of the following does not have nonlinear V-I characteristics?

a) Diode b) SCR ¢) Inductor d) Transistor

Prafafad & A fFad oRfQ® V-1 J&0r 78 aian 22
a) SIS b) SCR o) W& d) Tiforex

A 100 Q resistor is needed in an electrical circuit to carry a current of 0.1A.,

Which of the following resistor would you select?
a) 100 Q, 0.1W b) 100 Q,0.5 W
c)100Q, 1 W d) 100 Q, 2W



0.1A P dlfed B & [T T Iafdedd didbe | 100 0 UfRIU®
3Maas gidm 8| 3y Fafafad & | f&y uferius &1 397 Har

a) 100 Q, 0.1W b) 100 Q, 0.5 W

)100Q, 1W d) 100 Q, 2W

The emf induced in a coil of 100 turns when the magnetic flux changes from
0.001Wb to 0.0025Wb in 0.1 sec will be
a)l.5V b)3V )45V d75V

¥d 0.1 9P S H YaB T TS 0.001Wb F 0.0025Wb T URafid B g,
dl 100 Y419 a1elt digd H URd emf fasar gm?
a) 15V b) 3V )45V d) 75V



Current of 6A flows through a 10H inductor. Energy stored in the inductor
will be
a) 60 J b) 180 c) 600 J d) 3600 J

TP 10 H IR H U 6 A e Ualfed gidl g | IR § HeRd Sl fbat
grft?

a) 60 J b) 180 J c) 600 J d) 3600 J



What is constant for electromagnetic waves travelling in vacuum?

a) Electric field b) Magnetic field
¢) Frequency d) Speed
IGHRI H fdegadadig adil | @r R Xedl 82

a) fagyd & b) YEDT & ¢) 3Mmafa d) Iy

Which is the simplest antenna?
a) Yagi antenna b) Parabolic reflector antenna
¢) Dipole d) Hom



AT T HIH-T1 8?2
a) arft e b) ST WIddd Yel
c) SAUE d) 8

Which of the following cannot be directly measured by an oscilloscope?

a) Amplitude b) Wavelength c) Frequency d) Power

fofefEa d O faa sifteie grr I 76 A9 o Tl 82
a) STH b) TG H ¢) 3aRi d) gIaR



A 3% digit multimeter can display number up to
a) 350 b) 999 c) 1999 d) 3999

TH 3y, e adidtey . Far 9 vuehfa & Isar gl
a) 350 b) 999 c) 1999 d) 3999

A piezometer is used to measure
a) Strain in structure b) Very low pressure

¢) Very high pressure d) Leakage reactance



U ieiHex &1 T {62 719 & e e sar 22
a) GG H 9919 b) 3ifd A qr&
¢) 3ffd 3= T d) Rara ufafear

Which of the following is true?

a) Both voltmeter & ammeter have high resistance

b) Both voltmeter & ammeter have low resistance

¢) Voltmeter has low resistance & ammeter has high resistance

d) Voltmeter has high resistance & ammeter has low resistance

Fafaied & 9 71 98 82

a) divcHicy 3R UHIeR gl | I iRl Bl g

b) divcHicR 3R THIeR gl # g UicRie gl 8|

¢) diecticr ¥ (19 gioRiy SR ier 9 3= UicRiY gicl 5|
d) dlecHie’ # Ja ufoRiY iR UHier # 9 ufkiy giar 21



Dead zone of an instrument is

a) The largest change of input quantity for which there is no output of the
instrument

b) The unmeasured quantity which is more than the maximum range of the
instrument

¢) The time required by an instrument system to begin to respond to a change
in measurand

d) The input quantity which will spoil the instrument



fardt IusRur 1 ST W T Bl 82

a) 39e AE § if¥ean uRad forae fae Suasur &1 $is 3m3eye q
Bl

b) T8 SHIUT HEAT S SUBRU B SHfUHad I H 341U Bl

¢) A1 # uRada W ufaftrar &3 g IuH0 JurTel & for saas 9y

d) 98 $79¢ | forgs IUHRUN BRI Bl SIe |

A PT100 temperature sensor has resistance of 100 Q at 32°F & 60 Q at
temperature of -148°F. Find its resistance at temperature of 50°C,

a) 110 Q b) 120 Q ¢) 130 Q d) 140 Q

TS PT100 ATTH dgdh o1 UfaRIY 32°F AUHM R 100 Q 3R -148°F
AUHA WR 60 Q B8] 50°C AMIHM R ITHT UfRIY o1 g1 ?
a) 110 0 b) 120 Q ) 130 Q d) 140 O



The normal range of damping ratio for a control system is
a) 0.04 - 0.1 b) 0.4 -1 ¢)1-1.5 d15-2

TS ol Ried § e ST &1 TTH=I 31 &1 Bl 82
a) 0.04 - 0.1 b) 0.4 - 1 A)1-15 d)15-2

Which of the following light has longer wavelength?
a) Red b) Blue ¢) Green d) Violet



fofafEa o  f5a 31 & Yy &1 ayee i g 82
a) AT b) Hte ) & d) ST

Which of the following gives monochromatic light?
a) Sun b) Moon c¢) Tube-light d) Laser

fFafefad & ¥ &1 uhauff yery Sar 82
a) 4 b) IEHAT c) TYIATEC d) AW



When smooth and precise speed control over a wide range is required, which
of the following motor should be used?
a) Synchronous motor b) Squirrel cage induction motor

¢) Wound rotor induction motor d) DC motor

o Y 39 H Tg 3R e nfa Az Tifge 8 af i Arer &1 v
fan s =g

a) TeIHTcl HIeX b) fIort IRe @ Al

¢) HSa AR IR A d) St AR

Diameter of 24 AWG wire 1s :
a) 1.02 mm b) 0.51 mm ¢) 0.4 mm d) 0.25 mm



24 AWG TR &1 1Y fasaar ghm?
a) 1.02 mm b) 0.51 mm c) 0.4 mm d) 0.25 mm

A coil of 300 turns is wound on a non-magnetic core having a mean
circumference of 300 mm and a cross sectional area of 300 mm>. The
inductance of the coil corresponding to a magnetizing current of 3A will
be (o =4mx107 H/m)

a) 38 uH b) 113 uH c) 3.8 uH d) 1.13 pH




300 mm @1 3rgd IRIY 3R 300 mm? TR HICEF AT SGTBIT DR
TR 300 GG aTell Higdl AU St g1 3 A JaHI B & AU Digd
P URBA T (go = 4nx107 H/m)

a) 38 pH b) 113 pH c) 3.8 uH d) 1.13 pH





